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Landolt-rings W-N code: background-ring
TE731-1, Picture C4Wd: Element D: Landolt-ringsN. PSoperatorrgb/cmy0
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radial gratings (Siemens-starsN-Z radial gratings (Siemens-stars)V-Z line raster diameter inIpi
TE730-3, Picture C1Wd: Element A: radial grati?égsW, W-N, N-ZandW-Z; PSoperatorrgb/cmy0 TE731-3, Picture C5Wd: Element E: Line raster under 45° (or 1B5Y)peratorrgb/cmy0
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TE730-5, Picture C2Wd: Element B: 5 visual equidistangrey steps- NO + W1, PSoperatorrgb/cmy0 TE731-5, Picture C6Wd: Element F: Line raster under 90° (oP&yperatorrgb/cmy0 C
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TE730-7, Picture C3Wd: Element C: 16 visual equididtargrey stepsPSoperatorrgb/cmy0
-: test chart TE73; ME16(1SO 9241-306), 3(ISO/IEC 15775) input: rgh/cmyk —> rghy t
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